The Dragon Lottery
In the story of Saint George and the Dragon, the villagers enter a very unlucky lottery every day to decide the next person to be sacrificed to the dragon. Can you use the clues to work out the numbers that belong to each of the villagers?
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I have a 2-digit number less than 50.

The sum of the digits is 12.

The difference between them is 4.
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I have a 2-digit odd number.
It is greater than 50.

One of its digits is half the other.
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I have a 2-digit number.

The digits are different.

The digits total 9.

The difference between the digits is 3.

The units digit is half the tens digit.
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I have a 3-digit number.

The digits are all different.
The units digit is an odd number less than 6.

The tens digit is 6 more than the units digit.
Add the units and tens digits to get the hundreds digit.
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I have a 3-digit number.
The digits are all different.

The tens digit is double the units digit.

The units digit is odd.

The sum of the digits is 14.
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I have a 3-digit number.
The digits are all different.

The tens and unit digits total 8.

The hundreds and tens digits total 7.

The hundreds and units digits total 11.
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I have  a 4-digit number.

The digits are all different.

The thousands digit is four more than the hundreds digit.

The hundreds digit is 1 less than the tens digit.

The units digit is double the hundreds digit.
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I have a 4-digit number.

The digits are all different.

The units digit is double the thousands digit.

The units digit is 1 less than the tens digit.

The thousands digit is an odd number.

The hundreds digit is the difference between the tens digit and the thousands digit.
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I have a 4-digit number.
All the digits are different.

The thousands digit is three times the units digit.

The units digit is three less than the hundreds digit.

If I halve the hundreds digit and add one I get the tens digit.
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I have a five digit number.

All the digits are different.

The units digit is double the ten thousands digit.

The units digit is one less than the tens digit.

The difference between the tens digit and the ten thousands digit is the thousands digit.

If I add the ten thousand digit to the units digit I total the hundreds digit.

The number is less than 30,000.
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I have a five digit number.
All the digits are different.

The ten thousands digit plus the thousands digit is 6.

The thousands digit plus the hundreds digit is 10.

The hundreds digit plus the tens digit is 7.

The tens digit plus the units digit is 9.

The total of all five digits is 21.

The number is less than 40,000.
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I have a five digit number.

All the digits are different.

The ten thousands, thousands and hundreds digits total 15.

The hundreds, tens and units digits total 15.

The hundreds digit is two more than the thousands digit.

The 5 digits total 23.

The units digit is double the ten thousand digit.

The number is between 30,000 and 40,000.


